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PERFORMING ARTS - DANCE / DRAMA / THEATRE
PAPER - 111
SPECIAL INSTRUCTIONS
Candidates are required to answer all the 50 questions in Part-1, which are
compulsory. They should also select any one from Part-II and Part-III and
answer all the 25 questions of that Part only. Each question carries two marks. one
Candidates are required to mark clearly on the OMR Answer Sheet, the Part

Number which they have selected.

PART -1

Use Only For

Performing
Arts
PAPER III

Compulsory
PART -1

Optional
Choose any

(2PART -1
(GDPART - 11T

Common for all Dance / Drama / Theatre

Select the correct sequence from the
following as per Natyashastra

(A) Rasa, Tandava Lakshana,
Nandi, Nayaka Bheda

(B) Tandav Lakshana, Rasa, Nandi,
Nayaka Bheda

(C) Nandi, Tandav Lakshana, Rasa,
Nayaka Bheda

(D) Nandi, Rasa, Nayaka Bheda,

Tandava Lakshana

The “Nandi” of Natyashastra can be
called

(A) “Avanu” of Bhavai

(B) Preliminary of a Play

(C) Purvaranga of Dance

(D) All of above

Assertion (A) : The nature and
degree of transformation from
martial trait to stylised and
aesthetic has great range.

Reason (R) : Indian theatrical
styles favour martial arts.

Codes :

(A) Both (A) and (R) true.

(B) Both (A) and (R) false.

(C) (A) true (R) false.

(D) (A) false (R) true.

Pick the odd one out :
(A) Gangavataran
(B) Talapushpaputa
(C) Udhvahita

(D) Bhujangatrasit

Paper-111

5.

Match the following :
List—1

a. Vasistha 1.

b. Vishwamitra ii.

List—11
Ashok Vatika
Barn of
Apasara
Menaka
The tall one

c. Tadaka 1.
d. Trijata 1v.
Codes :
a b ¢ d
(A) i iv i i
B) i i i v
(C) i v 1 il
(D) i i ivod
Put in the correct sequence of time
(A) Madhavi, Vasavadutta,
Malavika, Vasantasena
(B) Vasavadutta, Madhavi,
Vasantasena, Malavika,
(C) Vasantasena, Vasavadutta,
Madhavi, Malavika
(D) Vasavadutta, Madhavi,
Malavika, Vasantasena

Who is the most political character of
Mahabharata ?

(A) Shakuni (B) Krishna
(C) Bhishma (D) Draupadi

Assertion (A) : Like Natyashastra,
Shilapadikaram is  religio-
cultural treaties

Reason (R) : It gives a mine of
information on the classical
and folk dances of South India.

Codes :

(A) Both (A) and (R) true.

(B) Both (A) and (R) false.

(C) (A) true (R) false.

(D) (A) false (R) true.
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Use Only For

Performing
Arts
PAPER III

Compulsory
PART -1

«P
Optional
Choose any
one

(PART -1
AT - | (GPART - 11T
T/ AEH [ T Gt & o
1. RIS % AR FefarEd w9l 5. fwfcfEd =it gHfer i -
o A = - | = - 1
(A) 9, diEd TR, AT, AAE 9 a. RS i 3TN ST
(B) s I&ToT, I, I, -k 9% b. foratet 1. Eww
(C) A=<, ATed oTeTuT, 34, A 9% Z g 11: T
(D) I, T, A9 9T, qied, oo ' '
E T
a b ¢ d
2. I & AR I FET S Gl § (A) i iv il i
(A) WETE & “STE’ (B) i i Qi v
E]é; :J::vw‘ch'[tg;fuld Elc)g 1ilil ::; iil lil
(D) Swie Tt 6.  THCHHUER SFARRI HifT : .
(A) WWWW
3. atvewee (A) : 9 faRTed § e (2) TR, e, azmuém,qaaan
e T @ fr & ()aua@m,amaw,h,maﬁm
‘;@&f s TE #F ETEOT % (D) dar"as, ﬂT%JTzﬁ, HTeAleehl, I
EECER 7. HEMRA | FaAgh SIS a5 B q
& (R) : wwdw e St &= €2
FeraT F U FE | (A) wFH (B) P
HE : (C) (D) g
(A) (A) 3R (R) T W€ | 8. AfWwem (A) @ FIEEETE H A,
(B) (A) 3 (R) T 7Te1a € | WWWW
(C) (A)TEE, R (R)ToE | TIE |
(D) (A) T &, /A (R) T T | T (R) : e Ff0T WRE &5 ARAT AR
ATHIcAl ot Hifeet! & TG GSTHT
4. foow o - €l
(A) TmER (A) (A) 3R (R) S W& € |
(B) Teq™IE (B) (A) 3T (R) I T & |
(C) Sgifed (C) (A) T ¢, W= (R) Tod & |
(D) SR (D) (A) 7o &, W (R) T & |
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10.

11.

12.

Pick the odd one out
(A) Mukuta

(B) Kirita

(C) Shirovestana
(D) Karnabhar

Match the following :
List -1 List—11

a. Sakhi- i. Maharashtra
Kundhei

b. Bommalattam ii. Karnataka

c. Gombeatta ii1. Orissa

d. Kalasutri iv. Tamil Nadu
Bahulye

Codes :

(A) iv i i
(B) iii iv i
C©) il iii v
D) i iv i i

a b ¢ d
i
i
i

Assertion (A) : Vaishnavism  had
greatly stimulated the growth
of temple drama.

Reason (R) : It developed
elaborate code of religious rites
and rituals in its sectarian
practice.

Codes :

(A) Both (A) and (R) are true.

(B) (A)istrue, (R) is false.

(C) (A)1s false (R) is true.

(D) Both (A) and (R) are false.

Select the correct sequence of the
following as per the geographical
origin from North to South :

(A) Bhagat, Bhavai, Bommalattam,

Bhanda Jashna

(B) Bhanda Jashna, Bhagat,
Bhavai, Bommalattam,

(C) Bhavai, Bhanda Jashna,

Bommalattam, Bhagat
(D) Bommalattam, Bhavai, Bhagat,
Bhanda Jashna

Paper-111

13.

14.

15.

16.

17.

Pick the odd one out :

(A) Cavittu- Christians  of

Natakam Kerala
(B) Cacar — Arena theatre
for Bhavai
(C) Jarjara — Pole wused in
Preliminaries
(D) Edakka — Name of the
character

Veethi Natakam is one kind of
(A) Temple theatre

(B) Street theatre

(C) Cycle play

(D) Puppet theatre

Match the following :

List—1 List— 11
a. Arabhati i. Arthaprakrti
b. Phalayoga . Vrtti
c. Bindu iii. Sandhi
d. Nirvahana iv. Avastha
Codes :

a b ¢ d

(A) i i iv i
B) iii i i v
€ iv i i i
D) i v i i

‘Janantika’ as described by Bharata
is one kind of a

(A) Dramatic Plot

(B) Dramatic Speech

(C) Dramatic Irony

(D) Dramatic Action

Select the correct sequence of the

following Sandhis :

(A) Vimarsa, Mukha, Nirvahana,
Pratimukha, Garbha

(B) Mukha, Pratimukha, Garbha,
Vimarsa, Nirvahana,

(C) Garbha, Nirvahana,
Pratimukha, Vimarsa, Mukha,

(D) Nirvahana, Garbha, Mukha,
Vimarsa, Pratimukha,
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9. fowm = gt :

(A) qF<
(B) feiie
(C) TerferT
(D) HUMR
10. FfefEa st gafera HifT

e - | =t - 11
a. Tl i, TR
b. ST ii. wARH
c. Tt iii. Igre
d. FARG A iv. aerTg
T4

(A) iv i il
(B) iii iv i
(C) il i v

D) 1 v i il

a b ¢ d
i
i
i

11.  fuwem (A) : dUEER |G A H
FE AT IRF T/ |

% (R) ;310 TUEE WER ¥ g
Hfear o1 faem fHar |

&<

(A) (A) AR (R) I T E |

(B) (A)WEE, (R)Tod € |

(C) (A)Ta &, (R) W&t & |

(D) (A) 3R (R) 31 Tord € |

12.  wimieis 3, IW & IRI0T, & AR
TrAfetad & 9 Tet 59 T g iU ;

(A) YT, YETE, SECTEY, HiS ST
(B) S ST¥4, W, HalTE, ST
(C) WA, e ST9, SFHTegH, STd
(D) SIHIIEH, YA, W, Hie S
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13. foum = =57 ST

(A) FAG-ARHFH: HA & e

(B) =R ; aTg 1 e
SUEIC])

(C) ™R ; Qe H UG i

(D) ESFH . U7 T AT

14. el A1esh fohE e ol Th UK € 2

(A) Hiex fruex
(B) TFRE AEH
(C) = TeH
(D) e fauex
15. T=fetad 1 e &
=it - | =it - 11
a. ST i. ormEa
b. HANT ii. g
c. g iii. @ty
d. fgeor iv. FreEr
ETE
a b c d
(A) i i v i
(B) iii i i v

©) iv i i

il

D) i v 1 i

16. 9RA §RT 07 “SHT% Toh bR 9 &
(A) TCHT FAFEH
(B) e G
(C) ™ &
(D) e T

17. TAteiEa atar & 93 § 9t 3e
T T B :
(A) Tamet, q@, feeo, ufaga, m
(B) T@, ufeq@, M, T, FHegor
(C) o, Tregor, ufaq, fower, 4@
(D) e, 7Y, g, fawet, ufaqa
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18.

19.

20.

21.

Assertion (A) : Bharata’s nandi
verses make a reference to the
victory of Soma or Moon.

Reason (R) : Moon is the basis of
Rasa, according to Bharata.

Codes :

(A) (A)istrue, (R) is false.
(B) Both (A) and (R) are false.
(C) Both (A) and (R) are true.
(D) (A)is false, (R) is true.

Pick the odd one out :
(A) Chulika

(B) Ankamukha
(C) Ankavatara

(D) Anka

Match the items in List — I with the

items in List — 11 ;

List— 1| List—11
a. Angika i. Singing
b. Satvika ii. Mudras
c. Vachika iii. Design
d. Aharya iv. Balanced

state

Codes :

a b ¢ d

(A) i iv i i
B) iii i i v
© i i iv i
(D) iv il i i

Assertion (A) : Oriental theatre do
not use any form of set.

Reason (R) :Set is a device
which represents realistic way.

Codes :

(A) (A) false (R) true.
(B) (A)and (R) true.
(C) (A)and (R) false.
(D) (A) true (R) false.
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22.

23.

24,

25.

26.

Pick the odd one out :

(A) Hayvadan — Girish Karnad

(B) Ghashiram  — G.P. Deshpande
Kotwal

(C) Chakraviyuha — Ratan Thiyam

(D) Karnabharam — Bhasa

Which of the following is correctly

matched ?

(A) Mani Madhav
Chakiyar

(B) Ponnaiya Pillai — Kathak

(C) RatanThaiyam — Kalaripayatu

(D) Bhagavat Mela — King Sarfoji
Natakam

— Kudiattam

“Nangiars” are associated with
(A) Ramleela

(B) Jatra

(C) Kudiattam

(D) Bhagawat Mela Natakam

Pick the odd one out :
(A) Rangapitha

(B) Mattavarani

(C) Kakrya-Vibhaga
(D) Manchaparikrama

Match the items in List — I with the
items in List —1II :

List—1 List— 11
a. Kalakshetra 1. New Delhi
b. Kalamandalam 1. Mumbai

c. National centre i1ii. Kerala
for performing
arts
d. National School iv. Chennai
of Drama
Codes :
a b c d

(A) i i iv i
B) i iv i i
©) iv i i i
(D) iii i i v

D-65-13



18.

19.

20.

21.

AfHeA (A) : WA F AR I F Y
AT THHT Bl TS Hm UG
AT |

% (R) : WA % AR, T5T 7G FH
TAE |

4

(A) (A)TEE, (R) T € |

(B) (A) 3T (R) I Toid & |

(C) (A) 3R (R) I T & |

(D) (A)Ted g, (R) Wl ¢ |

forom =t 3TeTT Y
(A) T

(B) 3hTE
(C) 3JFEaR
(D) 3%

-1 1 GEl-11 & e S
= - | =t - 1

a. 3R i T
b. @i
c. da iii. 3TTHeT

d. sme™ iv. Sqfera sTeen

T

E

a b c d
(A) i1 v 1 il
B) i1 i n o iv
© 1 ioiv il
(D) iv 1 i i

e (A) Y9 % T H WS &
forelt =0 o1 T e foha ST |

% (R) : 9 U fafy & S geneie &
1 Ui eee et & |

&<

(A) (A)Ted g, (R) el & |

(B) (A)SR(R)TE ¥ |

(C) (A) 3R (R) T € |

(D) (A)TEE, (R)TEAE |

D-65-13

22.

23.

24,

25.

26.

fa 1 == e
(A) TIaRA — R wATE
(B) HTERT SHidarel — S, 3aie
(C) e — T 4
(D) FoTH —
Frefefad o @ guferd & =57 i
(A) TUIETES AfFIR — Hle3TEy
(B) U= oot — FUF
(C) T ¥om — FHeTRITaIg
(D) NTE HeAT AEHH — TS TGS
(A) AT
(B) s
(©) Freem
(D) wTTEd Hedl AT
forem =t Fafea it
(A) T
(B) WOl
(C) Fg-fovm
(D) FEURERAT
-1 S G-I F GHTT i
= - | =t - 1
a. ol & i, % oot
b. el HEetq ii. T
c. T HEX ®R iii. s
TR 3T
d. A9 WA AME jv. AT
ELll
E T
a b ¢ d

(A) i i iv i
B) i iv i i
(C©) iv i i i
(D) iii i i v

Paper-I11



27.

28.

29.

30.

31.

Assertion (A) : A Guru should be
like a second parent to his
students, who ensures the
overall development of them.

Reason (R) : More than parents a
guru is placed on the level of
God and is  respected
accordingly.

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A)istrue, (R) is false.

(D) (A)is false, (R) is true.

Pick the odd one out :
(A) Adya — Indian theatre
Rangcharya

(B) Badal Sircar  — Evam Indrajit

(C) Suresh Awasthi — Performance
tradition in India

(D) K.N. Pannikar — Ashad Ka Ek
Din

Which of the following is correctly

matched ?

(A) Katti Vesham  — Kathakali

(B) Sangit  Natak — Chennai
Akademi

(C) Pachha Vesham — Duryodhan

(D) Raslila — Dwaraka

Mask like make-up is associated with
(A) Noh (B) Manipuri
(C) Kathakali (D) Khon

Match the items in List — I with the
items in List — 11 ;

List— 1| List— 11
a. Kathputli 1. Andhra
Pradesh
b. Pavakoothu 1i. Karnataka
c. Gomeatta iii. Rajasthan

d. Tolu-Bomalatta iv. Kerala
Codes :
a b c d
(A) iv i 1 il
B) i v i i
C) 1 i iv il
D) i 1 iioiv
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32.

33.

34.

35.

Assertion (A) : The way we use our
body in daily life s
substantially different from the
way the body, used in the
performances.

Reason (R) : In daily life, we use
the body technique which has
been conditioned by our
culture, social status and our
profession.

Codes :

(A) Both (A) and (R) are correct.

(B) Both (A) and (R) are false.

(C) (A)is correct, (R) is false.

(D) (A)is false, (R) is correct.

Pick the odd one out :

(A) Kamban — Tamil Nadu
Ramayana

(B) Rangnath — Telugu
Ramayana

(C) Vichitra — Orissa
Ramayan

(D) Valmiki — Kerala
Ramayana

Which one is not correctly matched ?
(A) Dummy Horse — Tamil Nadu

(B) Naga Dance — Manipur
(C) Chakkiyar — Andhra
Koothu Pradesh
(D) Mohiniyattam  — Kalyanikutti
Amma

Which is not correctly matched ?
(A) Birju Maharaj  — Kathak

(B) Kapila — Odissi
Vatsyayan

(C) Rukmini Devi  — Bharat Natyam
Arundele

(D) Kalamandalam — Kathakali
Gopi

D-65-13



27. sfiEEE (A) : T 6 W I
Tt & fo o fudr & &9
H gFT aifeT ST 39 Gouetd
forepr 6t T ST E |
b (R) : AR & T T 6
e 1 W@ e S ¥ ek
3TH IFTET & ITHN M B
T
T
(A) (A) 3R (R) S T & |
(B) (A) 3R (R) 3 @l ¥ |
(©) (A)FE (R)Ter & |
(D) (A)TAE, (R) T |
28. fomm 1 =@ i
(A) FEImEE - Efead fau
(B) AR WHR T T5I
(C) T el — WHHY gfevm
T ghea
(D) HUA. UOTHT — STOTE T T
29. TH=TafEd § 9 i |1 gafed € 2
(A) =g aem ~ e
(B) I ek THIGHT — o8
(C) eam Avm ~ g
(D) THAe — B
30. TG G FeoT [ T e § 2
(A) (B) T
(C) e (D) @A
31, gLl W HE I G-I oA @ ghfem
HITT
TR - | = - 1
a. YA i. oy WYy
b. TEHY ii. AeH
c. THeT iii, ToTEIE
d. @y iv.
&<
a b c d
(A) iv i i i
B) iii iv i i
(©) i i iv i
(D) i i i v
D-65-13

32.

33.

34.

35.

arfirmer (A) : 3 e o 718 TR
g9 30 IR H TN B & I8
5o ot TRefaeoT o T o
ST ¥ HIH =T EAT |

% (R) : <% Sew 4, iR
b, ST &1 R W €

~ o a . o o
T 0T FHRT FEHId, HHISTh

e 3 ARy w1 A § |

ETE

(A) (A) 3R (R) I eI T |
(B) (A) 3 (R) 31 et £ |
(C) (A)WE, (R)TEd ¢ |

(D) (A) T &, (R) W T |

Tr=fetfiaa & 9 foum &1 =9 i

(A) A IAE ATy

(B) T THRET - el
(C) fofem Tmmor - s
(D) aTeHieh TR — A

fefafaa & @ i o1 gaferd T8 € 2
(A) T IRE -~ THCTg

(B) Trmg™ - WO

(C) wfhaR-ig — 3TY w_w

(D) Wfeitargn — oAl Het e

Frferfae & & i A G T E 0

(A) o] werTst - P

(B) el @@ — affed

©) FEAURET TESA  — HIAEIH

(D) el Hee M~ Fershed
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36.

37.

38.

Match items in List — [ with List —1I :

List—1 List- 11
a. Sri Shankuka i. Ashru
b. Bhayanak ii. Vibhav
c. Sattvika iii. Rasa
d. Alambana iv. Commentator
Codes :
a b ¢ d

(A) i i i v
(B) i iv i i
©) iii i i v

D) iv i1 1 il

Assertion (A) : Mahabharata  has
played a vital role in our
Performing Arts practice.

Reason (R) : It
good values to the society.

Codes :

(A) (A)istrue, (R) is false.

(B) (A)is false, (R) is true.

(C) (A)istrue, (R) is true.

(D) (A)is false, (R) is false.

communicates

Identify the correct sequence as per
their Geographical origin :

(A) Chakyar Koothu,
Krishnanattam, Ramanattam,
Kathakali

(B) Ramanattam, Krishnanattam,

Chakyar Koothu, Kathakali

(C) Chakyar Koothu, Ramanattam,
Krishnanattam, Kathakali

(D) Chakyar Koothu, Kathakali,
Krishnanattam, Ramanattam

Paper-111
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39.

40.

41.

42.

Pick the odd one out in respect of the
colours used in Krishnanattam.

(A) Pazhuppu
(B) Kazhuppu
(C) Minukku
(D) Paccha

The Chief Rasa of Bhana is
(A) Sringara

(B) Hasya

(C) Karuna

(D) Bibhatsa

Match the List — [ with List —II :

List—1I List— 11
a. Arbhatti i.  Stylization
b. Natyadharmi 1ii. Roopaka
c. Rangabhumi iii. Vritti
d. Prakarana iv. Empty space
Codes :

a b ¢ d

(A) i iv i i
B) i i i v
) iii i iv i

D) iv i i iii

Assertion (A) : Nandikeshvara in
his own way analyses the
principles of natyashastra in his
book “Abhinaya Darpana”.

Reason (R) : Nandikeshvara
rejects the concepts established
by Bharata in Nayashastra.

Codes :
(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are false.
(C) (A)istrue, (R) is false.
(D) (A)is false, (R) is true
D-65-13



36. a1 F AT A G-Il F GG F GAfeTT
FHITT

37.

38.

e - | =t - 11
a. off Vi i. YAt
b. YIEE ii. fawma
c. Wcash iii. ¥
d. eTerEa iv. IR
&<

a b c d

(A) i i i v
B) i iv i i
© i i i v

(D) iv i i i

afirpe (A) : HeNMRA A gER T
el Sl IO H HEweqol fHee
e e |

% (R) : I€ TGOS H T oA FH
TR IATE |

&<
(A)
(B)
©)

(D)

(A) T, (R) T € |
(A) e &, (R) W& € |
(A) W&l &, (R) W&l &1

(A) TTd &, (R) ToTa € |

fAfeiEad o Arifers 3T % STER
Tl o Tafera S

(A) =R $Y, FOUFLH, TATH,
!

(B) THACEH, FUHIH, HTHR T,

Al

(C) =R $Y, THTH, FUIH,
SRl

TR FY, FIFA!, FOMH,
THeeq

RN

(D)
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39.

40.

41.

42.

FOHT | TS TN F G § fouy
1 Tafed it

(A) =g

(B) =1

(©) ™

(D) ===

91O T q&T 79 &
(A) F
(B) &=
(C) =z
(D) T

-1 S GElt-11 § GHTET i
=it - | =it - 1
a. IS i.  SrefteRtor
b. AreaEH ii. ®5%H
c. TMH iii. g
d. IpuT v. I A
E
a b c d
(A) i iv il i
B) i i i v
(C) iii i iv i
(D) iv i i i

AWHAT (A) : TolHeeR IO & d
‘FE TUOT AN 6
faegT=t 1 fageioor e € |

(R) : -E&¥aR 3 R gRI
TEIUET W TS SRS
I GE R |

T

(A) 3% (R) 4T T&l & |
(A) 3T (R) 3T T & |
(A) TE , (R) T & |
(A) e &, (R) W& € |

(A)
(B)
©)
(D)
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43.

44,

45.

46.

Arrange the incarnation of Lord
Vishnu according to his appearance

(A) Matsya, Kurma, Varaha,
Narasingha, Vamana,
Parashurama, Rama, Balarama,
Budha, Kalki

(B) Kurma, Matsya, Narasingha,
Rama, Varaha, Parshurama,
Balarama, Budha, Kalki,
Vamana

(C) Vamana, Matsya, Kurma,
Varaha, Narasingha,
Parshurama, Balarama, Kalki,
Rama, Budha

(D) Parshurama, Balarama, Kurma,
Matsya, Rama, Budha, Varaha,
Kalki, Narasingha, Vamana

Pick the odd one out :
(A) Vasakasajja

(B) Dhirodhata

(C) Kalahantarita
(D) Vipralabdha

Folk theatre usually depends upon
(A) Well written text

(B) Vague ideas of the plot

(C) Improvisation & Spontaneity
(D) Method acting

Match the items in List — [ with
List—11 :

List—1 List—11
a. Prakari i.  Rupaka
b. Kaishiki ii. Bhava
c. Samavakar  iii. Arthaprakriti
d. Krandana iv. Vritti
Codes :

a b ¢ d

(A) i iv i i
B) i iv i i
) iv i i i
(D) i i v i
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47.

48.

49.

50.

Assertion (A) : All the Sanskrit
plays follow the principles of
Natyashastra

Reason (R) : Natyashastra
theorised the classical
performance practices of Indian
theatre.

Codes :

(A) Both (A) and (R) are true.
(B) Both (A) and (R) are false.
(C) (A)istrue, (R) is false.
(D) (A)is false, (R) is true.

Arrange the following theatrical

forms according to the geographical

order from North to South :

(A) Burrakatha, Jatra,
Aankianat, Koodiyattam

(B) Aankianat, Jatra,  Maach,
Burrakatha, Koodiyattam

(C) Jatra, Koodiyattam, Aankianat,
Burrakatha, Maach

(D) Koodiyattam, Jatra, Burrakatha,
Maach, Aankianat

Maach,

Pick the odd one out :
(A) Kudiyattam

(B) Yaksh-agana
(C) Bhavai

(D) Lavani

The first ever play performed by
Bharatamuni in classical Indian style,
according to Natyashastra, is named
as

(A) Ananda-Parvatam
(B) Amrita-Manthanam
(C) Hasya-Chudamani
(D) Samudra-Manthanam

D-65-13



43.

44,

45.

46. -1 S AT I G-I ®F TR G GATA
I ;

e fqwy & fafoy eeari w37
WAl W YRINER H ST |
freafefed swaf @ W& w H W
Ealiie
(A) WA=, T, AE, TRITE, a,
TRIRTY, I, SR, I, HIeThl
(B) I, Ie, RITg, IH, 1T,
RN, TR, T5, HITh!, aTH
(C) o, Ao, AT, o]TE, TRIGE,
(D) TR, SR, FH, Heed, T,

5, ITE, HIcTh!, RITE, TH

faw =it fafea i
(A) TTHHGSST

(B) RS

(C) e

(D) favetesn

e fruer gmrr; Hefefad w R
HIAT &

(A) Wel-wfifd foelt T8 &

(B) T ol ST THE

(C) o9 3R aed]

(D) AN fary

= - | =t - 11
a. TRl 1. ©a%h
b. hf¥TeR! ii. e
c. THIHR iii. 31l A
d. = iv. g
&<

a b c d

(A) i iv i i
B) i iv i i
©) iv
(D) i i v i

i

— e
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47.

48.

49.

50.

afrpe (A) : G&hd & Gl AeE
e I 6 TFET Al SR
FAE |

TP (R) : YRAH Ut St o e
IR S AT WA | g €9

T feam |
E
(A)
(B)
©)
(D)

(A) 3R (R) T4 TEl & |
(A) 3T (R) 3T T & |
(A)TE T, (R) T ¢ |
(A) e &, (R) W& € |

i 1 % STER, S ¥ JRT,

ffefgd e w9 % =Ed w9

T T HIT

(A) T, ST, A/, SRR,
Tz

(B)  AifhAIE, ST, AT, SR
g

(C) I, FleargH, g, JRTHT

=
(D) FreatsH, ST, R, A,
ATHATTE

T =t fafea wifse
(A) Pl

(B) =T

(C) v

(D) =it

AT & IR ARAE WA et
T R gRT ST Gad Tgel Aed
3

(A) THE—ddH
(B) 3T
(C) TF—gemuT

(D) HHS—HITH
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o1.

52.

53.

54,

55.

PART - 11
DANCE

Pick the odd one out :

(A) Manohar Publication
(B) Shubhi Publication
(C) Motilal Benarasidas
(D) Modern Book Agency

Match the following :
List— 1
a. Kumudini 1.
Lakhia
b. Birju Maharaj ii. Apalam Chapalam
c. Gopi Krishna iii. Umrao Jaan
d. Kitappa Pillai iv. Navrang
Codes :
a b ¢ d
(A) i 1 v il
B) 1 iv i i
(C) i 1 v
(D) iv 11 1 il
Match the following :
List— 1
a. Astab Daboo i. US.A.
b. Mary Wigman ii. UK.
c. Paul Taylor iii. India
d. Alexandra Carter iv. Germany
Codes :
a b ¢ d
(A) i v i i
B) i v i1 il
C) 1 i iioiv
(D) iv 1 i i
The book “Bharatanatyam : A
reader” is written by
(A) Ananya Chetarji
(B) Devesh Soneji
(C) Ketu Katral
(D) Amrit Shrinivasan

Assertion (A) : If one watches a
Balinese dancer, a Noh actor, a
Kabuki actor, an Indian classical
dancer or Thai Khon dancer, it
is noticed that the movements
do not proceed in a straight
projectory but in sinuous lines.

Reason (R) : They all begin an
action with its opposite.

Codes :

(A) (A) and (R) true.

(B) (A)and (R) false.

(C) (A) true, (R) false.

(D) (A) false, (R) true.

List — 11
Devdas

List—11
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56.

S7.

58.

59.

60.

Match the following :
List—1I List— 11
a. Alaripu 1. Abhinaya
b. Ufali ii. Singing
c. Thumari iii. Feet movement

d. Purapaad iv. Anjali Hasta
Codes :
a b ¢ d

(A) i i 1 v

(B) iv i i i

(C) iv i 1 i

(D) 1 it v i

Assertion (A) : Everyone does not
know that the eyes, the facial
muscles, the mouth are important
indicators of the intentions and
feelings of living beings.

Reason (R) : The mask becomes
a face and the face a mask.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A) true, (R) false.

(D) (A) false, (R) true.

Put in the correct sequence of Age :

(A) Birju Maharaj, Raja Reddy,
C.V. Chandrasekhar, Rajendra
Gangani

(B) C.V. Chandrasekhar, Birju
Maharaj, Rajendra Gangani,
Raja Reddy

(C) Birju Maharaj, C.V.
Chandrasekhar, Raja Reddy,
Rajendra Gangani

(D) Birju Maharaj, Raja Reddy,
Rajendra Gangani, C.V.
Chandrasekhar

Pick the odd one out :

(A) The Maharaja Sayaji Rao
University of Baroda

(B) School of Performing Arts,
Pondicherry University

(C) Sarojini Naidu School of
Performing Arts, Hyderabad

(D) Nalanda Centre for Research

and Performing Arts, Mumbai

Identify the correct sequence from
East to West ?

(A) Kalbeliya, Bihu, @ Bamboo
Dance, Santhal
(B) Santhal, Bamboo  Dance,
Kalbeliya, Bihu
(C) Bamboo Dance, Bihu, Santhal,
Kalbeliya
(D) Bihu, Santhal, Kalbeliya,
Bamboo dance
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PART —1I1

kil
51. o = 9T 56.
(A) TR TSR
(B) spijqaﬁwﬁ
(C) HIdleTeT SHRERT™
(D) e g Tort
52. ﬁmﬁﬁaﬁaﬁgﬁ%ﬁaﬂﬁgﬁ
=it — 11
a. T oifE i e
b. S MRS ii. 3TUCT =UeT
c. T iii. S ST
d. Few fueee iy, qaT
T - S7.
: a b ¢ d
(A) i i iv i
(B) i iv i il
C) 1 1 ioiv
(D) iv iii i i
53. fAfcRad S GHfeTd T -
e - | =t - 11
a. IMEE g i. guam
b. O ErEA ii. I
c. Ui AR iii. WA
d. TSRS BT jv. S 58.
E
a b ¢ d
(A) il oiv o1 i
(B)y i iv 1 i
<G 1 1 i iv
D) v i 1 i
54, ORI ; 3T ST o AWH &
(A) FF=TTest  (B) A9 @St
(C) g Fget (D) I HfFra 59,
55. AfWmT (A) : TH dcll & A, A%
M, Uh el AT, THh
wRdE e IH I
Uh HHEIT
et aﬁaﬁ% |
% (R) : a ot s fopam &t 39k
TeTheT ° RS i € |
E T 60.
(A) (A)3IRR)FHT |
(B) (A) 3R (R) T € |
(C) (A)TEE, (R)W% |
(D) (A)Terd &, (R) el & |
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fe=ferfad st gaferd it

it - | el - 11
a. 3TN i. o
b. Sl i, AT
c. g iii. 98 ==
d. gurE iv. 3iSTel g%
&<

a b c d
(A) i i i v
(B) iv iii i i
(C) iv iii i i

(D) i i iv i

AfHHY (A) : T AR T8 TE S
fF T, FEAORmE SR g
Gﬁaﬁrsﬁsﬁéﬂgﬁraﬁﬂﬁr%
Hea ol Tehelh ¢ |

a% (R) : gET @8l oF ST ¢ 31T
e gEe |

(A) (A) 3R (R) I TEl € |
(B) (A) 3 (R) THI Tord ¢ |
(C) (A)TE, R)TTE |
(D) (A)TEd g, (R) W& |

39 & fewma ¥ W@l A H fofau

(A) TS wer™, wemoOE, 9
TSGR, TS5 0T

(B) il dg9rER, fo¥s] WeR, e
TIATTON, TST L&

(C) WW?ﬁ‘oﬁW’@TW
T, TSt Tl
1%1??1' TR, T G, IS
T, S, aeER
%rwa%g&rq
(A) TERST TNIRE JHarger i SR
(B) el i WHIMHT 3MeH, UifeeRt

(C) TS TIG TheT 31t ORI
W, TEIER

(D) T ¥ WK AT W R
o & I Y SR T

(A) HreTiern, sig, ST I, TRl
(B) WA, S T, SHicTelordT,
(C) =] I, it |,

(D) dig, Wi, HeraforaT, e I
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61. Which Indian modern dancer works
with deaf and dumb ?
A) Chandralekha

B) Astad Debu
C) Asha Coorlawala
D) Anita Ratnam

62. Assertion (A) : All theatrical cultures
have sought to dramatise the
facial features by accentuating,
deforming on enlarging them.

Reason (R) : Kathakali artist
practice a special exercise
designed to strengthen the
eyeball muscles.

Codes:

A) Both (IA) and (R) false.

B) (A) false (R) true.

C oth (A) and (R) true.

D) (A) true (R) false.

63. “Konnakol” is the art of )

A) playing rhythms on Mridangam

B) recitation of Shullas
C) make-up
D) playing of Veena

64. Pick the odd one out :
(A) Hasta Katha
B) Abhinaya Darpanam
C% Srihasta Muktavali
D) Hastalakshanadipika

65. The most prestigious institution for
music and dance in Chennai is
SA) Krishna Gana Sabha
B) Music Academ
2C§ Narad Gana Sabha
D) ABHAI
66. Assertion (A) : Dance is a_ visual
reipresentatlon and an elaboration
of musi

c.
Reason (R) : Traditionally,
performing musicians

dancers usually stay apart.
Codes :

A) %A) is true (R) false.
B oth gA% and R% false.
C) Both (A) and (R) true.
D) (A)is false (R) true.

67. A Romantic Ballet is

A) The Sleeping Beauty

Bi The Nutcracker

and

C) The Swan Lake
D) Gisselle

68. Match the fE'H](:)Win:
IST —
a. Minaxi Sundaram Pillai 1.
b. Smt. Rukmanidevi 1.
Arundele
c. Smt. Kalanidhi Narayan

Tata

Codes :
A
B
C
D

Paper-111

a b ¢ d
u 1 1 1
TR VV S A
v 1 11
1 11 111 1v

List - 11
Akka

1i. Athaiye
d. Dr. Padma Subrahmanyam iv. Mami
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69.

70.

71.

72.

73.

74.

75.

Match the following :

List -1 List —11
a. B.M. Sundaram 1. Yoshodhara
b. Prabha Atre ii. Music

Notation
c. Maithilisharan  iii. Khayal
Gupta

d. Pt. Bhatakhande iv. Musicologist
Codes :

a b c d

(A) i i i v

B) i i iv il

(C) iv i i i

(D) iv 1 1 i

Who of the following is credited with
extensive  work on  “Sangita
Ratnakar” ?

(A) Dr. Kapila Vatsyayana

(B) Dr. Premlata Sharma

(C) Dr. Sunil Kothari

(D) Dr. Arudra

Identify the correct sequence :
(A) Audience, Production,
Choreography, Script

(B) Production, Script,
Choreography, Audience
(C) Script, Choreography,
Production, Audience
(D) Choreography, Production,
Script, Audience
Match the following :
List -1 List—11
a. Nattuvanar 1. Monasteries
b. Akharas ii. Manipuri
c. Mandapmapu iii. Taladhari
d. Sattras iv. Gotipua
Codes :
a b C d

(A) i ivooii i

B) 1 i i v

(C) i v 1 il

(D) iv 1 i i

In last couple of years, the dancers
organizations and institutions of
dance are treating one subject
specially. It is

(A) Gender issues

(B) Purush-male dancer

(C) Guru-Shishya parampara

(D) Importance of Abhinaya

Pick the odd one out :

(A) Nartanam (B) Shruti
(C) Attendance (D) Nartaki

Pick the odd one out :
(A) Serge Diagelef
(B) Anton Chekhov
(C) Nijinsky

(D) Marius Petipa
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61.

62.

63.

64.

65.

66.

67.

68.

D-65-

B T YRAT SYFH TIBR Feh-areRd
&% WL B HAT € ?
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69.

70.

71.

72.

73.

74.

75.

-1 aﬁwﬁ 11 ﬁgﬁfﬁﬁﬁﬁw
— 11
a. a“rqq W i.
b. T I ii. TRfef
c. HTeieRe Ta iii. =™
d. d. mﬂ@% iv. i
" a b ¢ d
A) i 1 1 v
Bi 1 i iv i
C) v 1 i i
D) v m 1 i

TG TR I HEfetEd § 9 e
ST HTH 6T & 2

(A) I HUel A==
(B) . Uwotdr ¥l
(C) &t gHet wiert
(D) i 3551

&l ShH ol 8T DI

(A) S-SR, T, HIADEH, e
(B) W, 3Toid, SHINETH, Sidl-591sh
(C) 3R, HIRAIE, TR, SeT-390
(D) HIRGIH, FRf, SR, Sl-39h

o oo o [a¥a
[HHlelEd ﬁ HAledd plliNly

= - | = - 1
a. IR i. WS
b. @S ii. oty
c. II@W{ iii. areTEmy
d. &= iv. Tegsm
%< !
a b c d
A) 1 iv 1 i
B) 1 11 11 iv
Ci i oiv 1 i
D) iv m 1 1
el J-a &t | e, ¥ed 3K I
Tt U fov | faferedr S @, e
(A) ifies g2
(B) Tou-AH
(C) T&-RT= TR
(D) &AT 1 Hewe
fawg =t 9w
(A) T (B) Hfd
(C) T (D) !
T =t 9w
(A) TSI SeIe® (B)  3AweiA a@rd
(C) rsii=nt (D) TREE Yefrar
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51.

52.

53.

PART - 111

DRAMA/THEATRE

Match the following List - I with List - 11 :

List— 1| List— 11
a. Mahesh i.  Ashwatthama
Elkunchawar
b. Mohit ii. Shayad
Chattopadhyay
c. Madhu Rye iii. Sultan
d. Mohan Rakesh  iv. Guinea Pig
Codes :

a b c d
(A) iv i i i
B) i i v i
<©) i i i iv
(D) i v i ii

Assertion (A) : The theatre criticism
in India has become very
unsure and complicated.

Reason (R) : There is extreme
diversity of the theatrical forms
prevalent in India.

Codes :

(A) Both (A) and (R) are true.

(B) (A)istrue (R) is false.

(C) (A)is false (R) is true.

(D) Both (A) and (R) are false.

Give the correct sequence of the
following plays of George Bernard
Shaw :

(A) Arms and the man, The Devil’s
Disciple, The Doctor’s
Dilemma, Pygmalion
Pygmalion,  The  Doctor’s
Dilemma, The Devil’s Disciple,
Arms and the Man

The Devil’s Disciple,
Pygmalion, Arms and the Man,
The Doctor’s Dilemma

The Doctor’s Dilemma, Arms
and the man, Pygmalion, The
Devil’s Disciple

(B)

©

(D)
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54,

55.

56.

S7.

Pick the odd one out :

(A) Ghashiram Kotwal-Dashavatar
(B) Hayvadana-Yakshagan

(C) Hoholika-Bhavai

(D) Evam Indrajit-Jatra

The commercial doll-puppet theatre
of Okasa, Japan is known as

(A) Bugaku (B) Bunraku
(C) Kyogen (D) Dengaku

Match the items in List — I with
List—1I:

List— 1|
a. Shape 1.

List— 11
Feelings

b. Texture ii. Two dimension

c. Form iii. Principles of
composition

d. Emphasis iv. Three dimension

Codes :

a b c d
Ay 1 i i iv
B) i 1 v il
<G v ouod i
(D) i v i i

Assertion (A) : Scenography is the
physical manifestation of the
imaginary space.

Reason (R) : Scenography only
deals with the space in
1magination.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue and (R) is false.

(D) (A)is false and (R) is true.
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51.

52.

53.

PART - 111
Ae® / T

A1 S GAl-11 T AT I
i - | =it - 11
a. TV Uogaar i, 3TvEcdr
b. Hifed T ii. TR
c. g iii. g™
d. e iv. Tt o
HE
a b c d
(A iv i di i
(B) i i iv i
© i i i iv
(D) i iv i i

At (A) © 9RA ° fuex gree
A Sga AREd wd e

AT |

% (R) : 9RA H fued w0 % Yoo 5
IR faferemar € |

T

(A) (A) 3R (R) T TEIE |

(B) (A)TEE, (R)T ¢ |

(C) (A)TaE, (R) T |

(D) (A) 3R (R) 31 Terd € |

S g W % EfeRad Aew w
3T TIEH % SHAMAR Tt SFarerd e
H =TI HIT -

(A) ¥ W T W, T aH
feqmuer, T wEUE  SEeHE,
T

(B) Tumdferad, T Seey’d SEei, §
2foer s fearua, oWy e T 99

(C) T Sfoora fedruw, TwmieE,
AHH TE T AW, T TRYT
RG]

(D) T SeRTH SEelH, éﬂl—'l\« e T

=, e, § Sfoera feamsue
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54,

55.

56.

S7.

feremr =t 9T
(A) THERY Hiaae  — VMEAR
(B) @FasA — &I
(C) wifeTh — vATE
(D) TEH TEd — ST
3™ (U)o afuIeass  Treal-
?gﬁ?ﬁﬁxwa%mm@wm
0
(A) ImE
(B) TP
(C) ==
(D) <mE
GAl-1 S Gell-11 ¥ AT I
= - | = - 1
a. 3ehiT 1. ¥EAT
b. T ii. g M
c. Y9 iii. Tee 1 ogTd
d. iv. 7 e
HE

a b c d
Ay 1 i i iv
B) i i v il
© v o ouod i
(D) i1 v 1 i

tHU (A) : 39T FHeHE =
! ARTa AR & |

% (R) : Ta-foa0r § el Sieae
T <l == Y ST € |

E T

(A) (A) 3T (R) THT &I & |

(B) (A) 3R (R) 31 Tord € |

(C) (A) W&l g 3R (R) T & |

(D) (A)Tod & 3R (R) T € |
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58.

59.

60.

61.

Write in correct order :

(A) Text, Composition of Actors,
Research, Design, Audience,

Performance

(B) Text, Research, Design,
Composition of Actors,
Performance, Audience

(C) Text, Research, Design,
Composition of Actors,

Audience, Performance

(D) Design, Text, Composition of
Actors, Research, Audience,
Performance

Pick the odd one out :
(A) Mahendranath

(B) Sakharam Binder
(C) Tughlaq

(D) Ghashiram Kotwal

The NOH Masks were made out of

(A) Cloth
(B) Wood
(C) Cork

(D) Pap Macheé

Match the items in List — I with
List—1I :

List—1 List— 11
a. Giddhade 1i. Rabindranath
Tagore
b. The Chair ii. Dinebandhu Mitra
c. Neel iii. Vijay Tendulkar

Darpan
d. Dakghar iv. Balaraj Sahani
Codes :
a b c d
(A) v il i il
B) i ivdl i
© i S \ A 111
(D) i i v
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62.

63.

64.

65.

66.

Assertion (A) : In 1987, a new mile
stone was laid down in the
theatre movement of Kashmir.

Reason (R) : Bhawani Bashir
Yasir established Kalakaar
repertory circle

Codes :

(A) (A)istrue, (R) is false.

(B) (A)istrue, (R) is true.

(C) (A)is false, (R) is false

(D) (A)is false, (R) is true.

Which is the correct sequence ?

(A) Bharatendu Harishchandra,
Vishnu Das Bhave, Rabindranth
Tagore, [.C. Nanda

(B) Vishnu Das Bhave, Bharatendu
Harishchandra, = Rabindranath
Tagore, I.C. Nanda

(C) LC. Nanda, Rabindranath Tagore,
Bharatendu Harishchandra,
Bishnudas Bhave

(D) Bharatendu Harishchandra, 1.C.
Nanda, Rabindranath Tagore,
Bishnudas Bhave

‘PIPAD’ is a musical instrument in
(A) Opera (B) Yatra
(C) Gamelan (D) Kandy

Pick the odd one out :
(A) Racine (B) Moliere
(C) Ibsen (D) Corneill

Match the item in List — I with the
items in List —1II :
List-1 List— 11

a. E. Alkazi i. Chakravyuh
b. B.V. Karanth 1ii. Karna Bharam
c. Ratan Tiyam iii. Hayvadhana
d. K.N. Panikar iv. Andha Yug
Codes :

a b c d
(A) iv il i il
B) i i v i
(O) S v i i
(D) i i i iv
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58.

59.

60.

61.

@Wﬁ%ﬁ'\@@

(A) TS, ANHATST T e, 3T,
31MeheT, T9Te, TRfd

(B) UG, TGN, 3TMWehed, IM=arstt
T GH, T, I9H

(C) U, UM, 3TWehed, IM=arstt
T e, I9TH, Tf

(D) 2MIHed, UIS, AT T Fue,

foom =6t Tafea i
(A) TEEAT

(B) UERY g~

(€) TrTh

(D) =R HidaTeT

o o

T off U9 @l HEarEd § S
A E

(A) ut
(B) e
(C)
(D) e

G-I Sl =Tt GE-11 FF T31 F GAford
FHITT

=it - |
a. firare
b. T TR
c. et gYuT

d. SR
HE :

=it - 1
i, Yoz TR
ii. ey =
iii. o dgeTeRt
iv. SIS He

(A) iv i i i
B) i iv i i
) i i v il

D) i i v
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62.

63.

64.

65.

66.

Afimem (A) ;99 1987 H FIEAR &
THT SR | =41 HieT T e’
T@T AT T |

% (R) : WO SRR AR FHAHR
{9 Aol St T il |

&<

(A) (A)TEE, (R)TT & |

(B) (A)Wers, (R)WIE |

(C) (A) 7o &, (R) Tord € |

(D) (A)Ted g, (R) W& |

I T HT el ¢ 2

(A) TR s, (R e,
s SR, 27E 9 e

(B) OWREM 9@, YRGS &S,
AT SR, 3ME | =T

(C) 3T Tt e, e TR, WA
T, [TWRER e

(D) WReg wewrs, o€ W,
a5 R, fwER 9a

‘e fefafea § 9 fead o gia
CIRERS

(A) 3T (B) 3w
(C) T (D) et
faom =6t Tafea i
(A) T (B) Hifer=R
(C) zaud (D) SHIeA
A1 Y 7T B G-I B TG F GATeAd
FHITT

=it - | =t - 1
a. T BN i TR
b. et HRA i, FOMRH
c. X 999 iii. g
d. T, T v, STET
FIS:

a b c d
(A) iv il i ii
B i i v i
<© i iv 1 il
(D) ii i i iv
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67.

68.

69.

70.

Assertion (A) : The Comedia dell
Arte and the oriental theatres in
particular, proposed a
performers art, which is free
from all psychological
conditions.

Reason (R) : Both the forms are
meticulously based on body
techniques where the performer
works as an instrument.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)is false, (R) is true

(D) (A)is true, (R) is false.

Write in correct order :

(A) Perspective Drawing, Elevation
Plan, Ground Plan, Model

(B) Elevation Plan, Perspective
Drawing, Ground Plan, Model

(C) Ground Plan, Elevation Plan,
Perspective Drawing, Model

(D) Model, Ground Plan,
Perspective Drawing, Elevation
Plan

Which one of the pairs is not

correctly matched :

(A) Anton — Theatre  of
Artaud cruelty

(B) Gordon — Symbolism
Craig

(C) Adolph — Acting
Appia method

(D) Bertolt — Alienation
Brecht

The right angle of the stage lighting
for proper viewing should be

(A) 30°—40°
(B) 70°—80°
(C) 90° - 100°
(D) 45° - 60°

71.

72.

73.

74.

75.

Paper-111
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Assertion (A) : Pirandello’s plays are
called ‘theatre in theatre’ plays.

Reason (R) : His plays explore
the  relationship  between
appearance and reality.

Codes :

(A) Both (A) and (R) are true.

(B) (A)istrue, (R) is false.

(C) (A)is false, (R) is true

(D) Both (A) and (R) false.

George Onwells famous novel
“Animal farm” is dramatised and
directed by

(A) Peter Brook

(B) Sir Peter Hall

(C) Richard Schechner
(D) John Martin

Assertion (A) : Modern ~ Kannada
theatre resisted the bonds of
traditional forms and gave itself
to the new forms from the West.

Reason (R) : The mainstream of
pre modern Kannada literature
is dominated by epic.

Codes :

(A) (A)istrue, (R) is false.

(B) (A)is true, (R) is true.

(C) (A)1s false, (R) is true.

(D) (A)is false, (R) is false

Assertion (A) : Designing a space is
not to fill the area with
materials, but to create an
environment to establish the
action of the play.

Reason (R) : Design helps the
actor to build his character and
to move conveniently.

Codes :

(A) Both (A) and (R) are true.

(B) Both (A) and (R) are false.

(C) (A)istrue, (R) is false.

(D) (A)is false, (R) is true.

Pick odd one out :
(A) Chekov
(C) Charudutta

(B) Stringberg
(D) Hauptmann
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67.

68.

69.

70.

AR (A) : FAfear T 31e, fovid:
JRT=et fruey udl stvea saer
F I H I g S W
AT I9MST & T el & |

% (R) : 3T AT UH S dehHTen
W Gasdl 9 UIRG &, Sl
FATHR TH I & TG T HE HAT
g

T

(A) (A) 3R (R) I TEIE |

(B) (A) 31X (R) THT 7Teta € |

(C) (A)TAa &, (R)TEIT |

(D) (A)TEE, (R)Tod e |

(A) WEfRd e, Tfeeyy @,

MZE ©H, ATEA

(B) UlelavH wH, wafded g,

S TH, JTEA
(C) W¥E TwWIM, TielyH
e SIerT, Higel
(D) dHied, URE ©H, WEfeed e,

afeTere ==

I,

fr=fefad o @ #F @ 39 9@t gaferd
B

(A) UIH 3RIBE — FHIT HT TTH
(B) TIE shT — UelehaTs,

(C) UEew M — 3y fafy
(D) e - e

3faq w9 ¥ ff@E 7 % fau H9 *
TS ST Tet hI0T BT 1feT |

(A) 30°—40°

(B) 70°— 80°

(C) 90°-100°

(D) 45°—60°
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71.

72.

73.

74.

75.

Ao (A) : RESEN & A @i
ey § fuer ek T ST € |

& (R) : ST A1 diq 3T a2 &
e % HEY o @IS I § |

&<

(A) (A) 3T (R)THT W&l & |

(B) (A)WE g, (R) T ¢ |

(C) (A)TaE, (R) T T |

(D) (A) 3R (R) HI Tord € |

SISt STHeed o gUiag ST “THwet
HE H ARHEOT AR FRIE
FTeREd §RT Toha T

(A) TR TH (B) W URR gt
(C) TEEvs® (D) H A

AHAT (A)  IYF FIS T A
URURe SeT 1 ot fomar & 3T
ufvem ¥ 39 & 79 w9 @ e |

% (R) : U9 3MYF® FIg Aiecd &l
T ORI T HETH H U9 & |

ETE

(A) (A)TEE R)TE |

(B) (A)WI%, (R) Wl €1

(C) (A)Td &, (R) W& |

(D) (A) 7o &, (R) Tord € |

syt (A) : fRa TI= #1 eThireRed
TIR AT, TN ST Bl ORAT
Tl & SIug A & fohamshey
MUa A & o0t ardmeRo
TIR HAT & |

& (R) : Afeped Afaear & o s
U Wl TAR I H T Bl 8,
e a8 graen ¥ Faor & 9 |

(A) (A) 3T (R) THT &I & |

(B) (A) 3 (R) T 7Terd € |

(C) (A)WEE, (R)Terd € |

(D) (A)Ted g, (R) el ¢ |

foum =t Tafed sifse .
(A) =@E= (B) it
(C) =mes (D) s
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